Workbook Lesson 15A—Hwms Bora (Part 2) Student's Name:

Instructions
1) Pick a specific color pen or pencil that you will designate as a “First Attempt” color. Translate, using that
color, as many of the words as you can in the blanks provided without using any reference materials.

2) Use your “First Attempt” color pen or pencil to answer as many of the questions throughout the essay as
well. Again, do not use any reference materials.

3) Now choose a completely different color pen or pencil to fill in the rest of the blanks and this time using a
dictionary, language generators.

Exercise

1) On CorJIacuICs MI0TOMY UTO XOTEN 4TOOBI MBI MOTJ/IH

JKUTD BEUHO

Q: Is this a one-party or two-party uToGHI sentence?
Why?

2)B TPETHI IIeHb nocse CMEPTH Bor BOCKPECHIT
Nucyca
Q: Is Tpetwii a cardinal or an ordinal number?

Q: What case is the word Uuncyca declined into?

3) Torpa Nucyc SABHJICS CBOKM TI0C/IEJ0BATEIAM
_ cKaszan YTOOBI OHU TPOIIOBEJ0BANH o BCEMY
MHDY
Q: Is this a one-party or two-party 4ToGbI sentence?
Why?
4) OHU _____ JIOJDKHEL TIPOIIOBEJ0BATE 0 TOM, UTO , Bor
Ha3HAUMII Hucyca Lapém 3emn

Q: What case is the word Nucyca declined into?

Q: What case is the word yjapém declined into?
Why?

Q: What case is the word 3emsu declined into?

5) Ckopo Nucyc oyzer JE€WCTBOBATh

6) On YHUUTOKUT BCEX 3/IBIX OAEH

Q: In the phrase “Bcex 3/1bix mogeit”, what case are these words declined into?

7) On oyzer L1apCTBOBAThH THICAUY et
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8) On TIPUIET C aHreaMu 4TO6BI TI0JIOXKUTh KOHEL]

BCEM MPaBUTE/ILCTBAM KOTOpbIe ceiiuac CYIIIECTBYIOT

Q: What case is the word anrenamu declined into?

Q: What case is the phrase “Bcem npaButenbctBam™ declined into?

Q: Why does the word koTtopsie end in —bie?

Q: Why is the word cymjectByroT conjugated this way? (hint: who is doing the action?)

Q: Is this a one-party or two-party 4ToGbI sentence?

Why?
9) Torga HHMKTO He Oyger 60/1€ETH u HMKTO He
Oyzer YMHPATh
10) MuIMOHBI MoAEH KOTOpbIE paHkbILIe yMep/u
BOCKDPECHYT

Q: What case is the word Muumons! declined into?

Q: What case is the word ymogeit declined into?

Q: Why does the word koTopsle end in —ble?

Q: Is the verb BockpechyT in the perfective or imperfective aspect?

11) Uucyc OYeHb TOOUT CBOEro oTLa

Q: What case is the phrase “cBoero orija” declined into?

12) On X0uer 4TOOBI BCE ero o0uH , TIPOCJIABJIS/TA

ero AMs , U cob/moanm ero 3aKOHBI

Q: In the phrase “ut06bI Bce ero mobumu”, what case is the word ero declined into?

Q: Is this a one-party or two-party 4To6bI sentence?

Why?

13) Korpga BCE KUBYIIHE OyayT TaK TMOCTYTaTh ,
KU3Hb Oyger pajoCcTHas u BCE OyayT
XBaJIATh oTLA Nucyca , MeroBy

Q: In the phrase “Bce 6yayT xBaauTh oTija Mucyca, Merosy”, what case are the following words declined
into?

Oria

Nucyca

Uerosy
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